SF 5

WHEIORET = Aa — b fEEE

L&y B 373 &

BOE KB F G BOR K

FH gk B 4
B AT # [ ELIFEARE DT A D SM6E3IHA3IH FT
B 17 B #

HARR FALERISWOEHRT b HipN

BB LI B Wvws



A A N 5 T
& H &> #H ] Y
nE NaRE 1
i NaRE 2
/NG
THERL o
TR
aF

| PNIT 28 J R A R~




NOERR F 1
7 T = I I HAL| %% & Bl ol | 1 b2
nE AREIES IR ER R AR (I BT AR
B ) = .
i & - 1/500 = 1 B 1 B2
R B = .
VEZEGT I S 1 B HM S 2 B2 A
B s A km 0.08 A 3 55
L km 0. 08 BIME 4 25 1R
1R B Mk & ) & km 0.08 B2 5 25 R
HEVET I km 0. 08 B2 6 22 R
TR T km 0.08 HIHIEE 7 21
il GIPTEE ¢ = 0
Wi, WEEEbRVEBOSE[ O 0. 56
EL ] = = .
R A 1.0 ARiC LD




=0 3

H =
# T fil o hl A HAr| # & B A RN | fii
AL A 34 ST
RS E e i X L0
Bk
it

| P28 B Rl 2




N OER FE 2

# H T M R LIl WALl $ & B & 1 ik
e AREPEB IR R AEE (BB
s fER%E! = .
ES B X 1 HHHM S 8 B2 A
FIEE (hRLE) e 1 BRAME S 9 B2
Jic#e 22 X .
L . % 0.63
ERCYNCS ¢ = .
BRI ER = .
ELEZ AT = .
Z O x 1
— e PR A = |
AR A = .
R
INEE




w1 A FR ML - 1/500 B B — W7
4 i mo oo | wae | mo o | % om | 4 W om
Ean B I R LS
P& AT H 0.
B Ah 0.
P Al A 0.
AR (W)
P Al A A 3.
BUEmLE
B An L.
P Rl A 3.
TAEHIZIXT 4774V DVERK
P 2 L.
RSkl L.
BN .




F1%

il £ - 1/500 B % == — - b
4 ) I G- WA | % R | B 6 & fi 4

Pt 2 % 6.5 LB A 2 X
e % 1.0 N o
M % 2.0 N s
EENERE S % 5.0 (CHE A B BB T) OB
/Nt H
ZAbE 0. 30

|NI3 25 SR % T




2 Ve 3 B

w2 — B2
gd P Bk . o # WAL | 0 & B ff o i P
VEEE XA AR R AL TE
& TATERAD 0.6
PR L] 0.9
5 A 0.6
/NEE

|NI3 25 SR % T




B3 E sk M AR
% P B : % AL | # & B ff & i £
B s A AR AR A R L
PR 3Ll 1.6
R Bl A 1.4
R 2
A% 2 % 2.0
B
B % 7.5
/NEE

|NI3 25 SR % T




HAE LR A = 1 km2% 7= ¥
4 in i & . & Bk HAfT B = B Al & # 1 L
O e R AR PR TS A R R L Y
AR N 0.6
T S ER Al N 0.6
) Ewx &
&4 A 2.5
T S Al A 2.8
) &8hF A 2.2

R HUE [ D AR

B A 0.5

T 2 5 Bl Al A 0.6
AR

IR eaii] A 0.7

0 R il A A 0.6

ELRE N2 Y 1




[ ) p, N/
LR /R <> 1km¥7= ¥
R S S COA I SN A O i %
% 4.0 ELHE N2 X B
% 6.0 ELHE N2 X B
% 10. 0 (ECBE AP Bt 1) B

1.2

P H R 2 7R




%55 {5 B M {8 ) B B #m B 1km 7= Y
4 L o) & . & R HAL u & B Al & % ] S
B E R EB SRR L E
B A 1.0
T 2 56 Bl it A 1.2
& F A 0.9
L
T 2 5 Bl Al A 0.6
& F A 0.3
AR
B A 0.4
T 2 5 Bl Al A 0.5
RPN =X 1
DK AE 2 % 2.5 B2 A\ X g
¥ % 2.5 [ELHE A E B
KRB B % 10. 0 (LB N ME R R R) X B
/N M




565 S By A 1 km2% 7= ¥
% L B | s & | E & i %
B R s S R ALV
B P i A L.
A R T i A L.
A T A L.
0T 1 4
B P i A 0.
B P A A 0.
HIUES A 0.
SRR
) B A 0.
A L il i A 0.
AN Y
HEbEE 5 % 2. NG R Es
PEHE % 3. LB P X
R B % 10. CEINGE S LIRS
g i




T A B M = 1 km47- 0
4 L o) & . & R HAL u & B Al & % ] S
BLHI R EB SRR L E
B A 6. 4
T 2 56 Bl it A 7.2
& F A 5.3
AT I [ 1 B
M A 2.2
T % 5 Bl Al A 2.3
&) F A 1.5
SRR
BT A 1.7
B B A 1.1
RPN =X 1
AR % 2.5 RIS 2
MEHE % 3.0 RIS P s
KRB % 10. 0 CEINGE S LIRS




5T AR T B 4 E 1 km247= 9
4 Fiin Hi & . & Bk HAfT B = B Afh & # 1 L
/NEE H
ZALE L5

P H R 2 7R




85 i i Ml & 1302570
4 L o) & . & R HAL u & B Al & % ] S
AT A AT ES AL E HANE B
Al (A) A 0.5
A (B) A 1.0
B A
bl (B) A 0.5
bl (C) A 0.5
B
£l (B) A 1.0
el (C) A 1.5
A
£ (C) A 1.0

BB A 2.0




85 i i Ml & 1302570
4 L o) & . & R HAL u & B Al & % ] S
WA T2 o5
A (B) A 1.0
bl (C) A 1.0
it B A 2.0
bl (A) A 0.5
bl (B) A 0.5
et FAERR
e (A) A 0.5
£l (B) A 1.0

&l (C) A 2.0




o AR (hRILE) o E 1720
4 P B . (R - AL | # & ol & i 3
BT AT ES AL E HANE B
FALELRT A 0.5
Hehfi (A) A 0.5
aMGILS;
bl (A) 0.5
bl (B) 0.5
JSCR AN R
FATELHT 0.5
Al (A) 0.5
i

| P28 T R 2 kg




